=LPDB

*UXSD S5RINiDG )* 0

7\J

o
™
7\ 7\ 7\ 7\ 7\
= \NiDG PRQRJUDILF]Q\ ) = \NiDG PRQRJUDILF]Q\
GU KDE SIRI 8-+ 31-1 VSUDZQRGFL -RQZHUWDIRUXP -RQZHUWDIRUXP GU KDE SIRI 8-+
&IHUQLDN 8W]XID OLFUIRV JLQIHIJURZDQH GU 5XVHN VSHFIDIL]DF\IQH ] VSHFIDIL]DF\IQH ] &IHUQLDN 8W]XID OLFURV
RIl 7($06 =DICFID RQ %HDID =% > DNUHVX IUDQVIDIRUNNL  GU DNUHVX IUDQVIDIRUNNL  GU RIl 7($06 =DICFLD RQ
Z QH D)$0 = o = BNXELV ,GD %L %IXH BNXELV ,GD =DICFID RQ QH )$0 =
L )0 = %XIIRQ =DICFLD RQ ILQH QH D>)*0 = )0 =
@ )* 0 -
=
N 7\
31-1 VSUDZQRGFL
JLQIHIURZDQH GU SXVHN
%HDID =% >
o ot
7\ 7\ 7\G] 7\
7iXPDF]HQH GRN Z 7iXPDF]HQH IHNViyZ 31-1 VSUDZQRGFL GHPLQDUXP
REURFLH JRVSRGDUF]\P IHFKQLFTQ\FK L JLQIHIURZDQH GU SXVHN PDJLVIHWNH GU KDE
[a) GU SHVIND $JQHVIND  ~ HNRQRPLFJQ\FK GU %HDID =% > ODINHZIF] $QQD SURI
8 ( )0 = 3LCIDN $INDGLXV] = ( o = 8-" =% )*0
* - -
= )>* 0 - ot
I _
= SDTG]IHUQINX
VHPLQDUXP PJU ECG]IH
VIC RGE\ZDIi QD X0
= DVI\QJIRQD v
7\
— 31-1 DQDU]D L SLVDQH
) IHNVIX GU KDE 6]\QGIHU
$QQD SIRI 8-" = (
)>* 0 -
=
™
o
©




